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	2017 March Cisco Official New Released 600-512 Dumps in Lead2pass.com! 100% Free Download! 100% Pass Guaranteed!  Our

PDF dumps of 600-512 exam is designed to ensure everything which you need to pass your exam successfully. At Lead2pass, we

have a completely customer oriented policy. We invite the professionals who have rich experience and expert knowledge of the IT

certification industry to guarantee the PDF details precisely and logically. Our customers' time is a precious concern for us. This

requires us to provide you the products that can be utilized most efficiently.  Following questions and answers are all new published

by Cisco Official Exam Center: http://www.lead2pass.com/600-512.html  QUESTION 31 Which two EPG events cause a VLAN to

be provisioned on a leaf switch? (Choose two.) A.    static binding on an access port B.    creation of an EPG C.    adding an EPG to

a VMM domain, which has a hypervisor on the leaf port D.    creating a new physical domain E.    adding a tenant to a leaf switch F. 

  creating a subnet on the leaf switchAnswer: AC QUESTION 32 Which two options are supported in the ACI API to query the MIT

tree? (Choose two.) A.    by distinguished name B.    by class C.    by role D.    specific objects by UUID E.    objects by master

replica Answer: AB QUESTION 33 Which option describes how an API gets real-time updates about the health score of an object?

A.    using a query in Visore B.    include the health object when applying scoping filters to the response of an API query C.    using

the dashboard of the GUI System menu D.    using SNMP at the leaf and spine Answer: B QUESTION 34 In which class is flooding

enabled to address specific application requirements? A.    fvBD B.    fvRsCtx C.    fvTenant D.    fvAEP E.    fvAP Answer: A

QUESTION 35 Which three types of interfaces are supported to connect a border leaf switch to an external router? (Choose three.)

A.    Layer 3 interface B.    Layer 3 subinterface C.    SVI D.    EPG interface E.    tenant interface F.    Layer 2 interface G.    bridge

domain interface Answer: ABC QUESTION 36 Which two options are the two supported data formats of the ACI northbound API?

(Choose two.) A.    HTML B.    JSON C.    XML D.    REST E.    CSV Answer: BC QUESTION 37 Which OpenStack project is

used for OpenStack integration with the Cisco APIC? A.    nova-network B.    neutron C.    cinder D.    apic-controller Answer: B

QUESTION 38 Which two routing protocols does ACI support for external connectivity? (Choose two.) A.    IS-IS B.    iBGP C.   

OSPF D.    RIPv2 E.    EIGRP Answer: BC QUESTION 39 Which three protocols are supported when a remote location is specified

for an ACI export policy for configuration backup and tech support? (Choose three.) A.    SFTP B.    SCP C.    FTP D.    HTTP E.   

TFTP F.    HTTPS Answer: ABC QUESTION 40 Which two options can be used to extend the overlay to a VMWare hypervisor?

(Choose two.) A.    NVGRE B.    VXLAN C.    application virtual switch D.    OpFlex E.    OpenStack Answer: BC  If you want to

get more 600-512 exam preparation material, you can download the free 600-512 braindumps in PDF files on Lead2pass. It would

be great helpful for your exam. All the 600-512 dumps are updated and cover every aspect of the examination. Welcome to choose. 

600-512 new questions on Google Drive: https://drive.google.com/open?id=0B3Syig5i8gpDTjFBaFRpdzFXU3M  2017 Cisco

600-512 exam dumps (All 65 Q&As) from Lead2pass:  http://www.lead2pass.com/600-512.html [100% Exam Pass Guaranteed]
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